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1. Find the integrals:
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3. Determine convergence or divergence for each of the series. Indicate the test you used.
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4. Find a basis of P, from {1+2x?, x+x’, 2—x+3x7, .3+x+7x2,x2},

where P, %)
1 -2 1 1
5. Let A={-1 2 0 1} , (20 %)
2 -4 1 0

(a) Find a basis for the subspace of the solutions of 4 X = 0.

(b) Find a basis for the row space R(A)of 4.
(¢) Find a basis for the column space C(A4) of A4..
(d) Find rank(A).
6. Let 7 :V — W be any linear transformation, prove that 7 is 1-1 if and only if ker(7") =

{0}, where V' and W are vector spaces. (10%)




